Ostwaldcolours (o) Y\y=88,6
o525 max (m) chromatic value, D65

X,=83,99Y,~88,59,7,~9508 B,

T natic v Xw=0,3137y,,=0,3309 Lio
Mig the chromaticity diagram (x;0, Y10) Ao = (80— ag,) Yis (YIY;91/3
Bo = (b — b,n) Y (Y/Y19)1/3
29 =ago [x/y] +
b = byo [z 87 35
ay=1, byg=-0,4
20 20 D\\ A,
. . . N
n = D65 —40 ' ' 40
2 625
3 700 5
1 27
2
/ CIE 1964 X10 Ostwaldddours (o) Y\\=88,6
0,0 + 7Og65es max (M)l atjc value, D65|
0,0 0,2 0,6 0,8 1,0 chroma (A% B*0.10)
BE391-1A_1 BE391-2A 1
X,=83,99.Y,~8859.2,79508 B, X,=83,99Y,~8859,7,~9508 B,
%y=0,3137y,,=0,3309 Lo Xy=0,3137y,,=0,3309 240
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1=(1-byp) Yig (YIY191/3 By = (b - by Yig (vrv,9 13
ag = a0 [(x-0,179] - 8 =29 [(x-0,179/y] +
by = by [z 787 38 =020 [(Mp1X+bp1)/y]
ay0= 1, byo=-0,4 /)6‘ ay=1, byy=-0,4 %7 g
Mr1=1,000b;=0,171 . . A Mpi=-0,157)bp;=0385  £80OP—g' Ao
f t t » t t t »
n = D65 -40 40 n = D65 -40 5 40
0 27
27 217
Jb ¢
2
Osjwaldddlours (o) Yy,~=88,6 Ostwaldcolours (o) Y\y~88,6
malx (myfhdiatic value, D65| max (m) chromatic value, D65 T-40
ch (A*110.B*110 chroma (A*2 70 B*210)
BE391-3A_1 BE391-4A 1
X,=83,99.Y,~8859.2,79508 B, X,=83,99Y,~88,59,2,~9508 B,
Xw=0,3137y,,=0,3309 B 40 Xy=0,3137y,,=0,3309 98 +40
A3 = (a3~ a3 ) Y15 (Y/Y19) Ag= (@4 =ag) Y15 (Y/Y1g)
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag = ay[(x-0,17D/y] + ay = a0 [(x-0,172/y] +
b3=byg [(Mp1x+bp1)/y] 767 38 bs=byo [(Mp1x-+bp1)/y]
ay0=1, byy=-0,4 ,oO'-T ay=1, byy=-04 787 3
Mp;=-1,344,bp,=0,781 . fﬂ; . N mMp;=-0,157,0p1=0,385 M . A:"
} t t » t t t »
n = D65 -40 40 n = D65 -40 0 40
27 27,
0
9
(@] Iddolours (0) Y\y=88,6 Ostwalddolours (o) Yy,~88,6
mé&x (m)hdfatic value, D65, max (m)Fhdatic value, D65
chroma (A*310, B*310) chroma (A*410, B*4.10)
BE391-5A_1 BE391-6A 1

X,=83,99.Y,~8859.2,~9508 B,

X,=83,99Y,~88,59,2,~9508 B,

Xy=0,3137y,,=0,3309 X0 X=0,3137y,,=0,3309 140
A5 = (85~ 35,1 V1o (VY1919 Ag = (B ~36,) Y1s (VY1913
Bs = (05— bs ) Y18 (Y/Y19) Bg = (b5 — s 1) Y18 (Y/Y19)
2 = a5 [(x=0,17)/y] 1 a6 = a0 [X/Y] 1
bs=byg [(Mp1X+bp1)/y] 767 38 bg=bao [(Mp1x+0p1)/y] 77 38
ay=1, byp=-0,4 ay=1, byp=-0,4
Mp;=-1,344,bp,=0,781 NS \ AL\S mMp;=-1,344,bp;=0,781 \ ' A:e
n = D65 —40 ' ' 40 n = D65 —40 ' 40
27 27
0 5
2

(e Iddolours (0) Y\y=88,6 Ostwaldcolours (o) Y,~88,6

mé&x (m)hdfatic value, D65| max (m) chromatic value, D65 T—49

chroma (A*s 10, B*510) chroma (A*g 10, B*5.10)

BE391-7A_1

BE391-8A 1




Ostwaldcolours (o) Y\\~=88,6
o525 max (m) chromatic value, D50
Mig the chromaticity diagram (x;0, Y10)

X,~85,68Y,788,582,=72,12 B,
Xw=0,3477y,,=0,3595 T40
Ao= (@0~ agy) Yig (Y1913

Y
Bo = (b — b,n) Y (Y/Y19)1/3
29 =ago [x/y] +
b = byo [z 8l
a50=1, byg= -0,4
. .
n = D50 _40 )
25700 A
1
/ CIE 1964 X10 Ostwaldd
0,0 + ToHeseE max (m)]
0,0 0,2 0,4 0,6 0,8 1,0 chroma (
BE391-1A_1 BE391-2A 1
X,=85,68Y,~8858.2,~1212 B, X,=85,68Y,~88582,~7212 B,
X,=03471,0.3695 240 Xi03477%,703595 240
A1 = (a1~ 2y ) Y15 (Y/Y19) Ax= (@~ p) Yig (Y/Y1g)
B1=(1-byp) Yig (YIY191/3 By = (b - by Yig (vrv,9 13
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA 869 39 =bs0 [(Mpx+bp1)/Y]
ay0=1, byy=-0,4 A a=1, by=-04 89 39
My1=1,000,b7,=0,171 n o1 Mpy=-0,157bp;=0,385 , 0580 n J2
n = D50 —40 ' 40 n = D50 —40 ' Bg\ 300 40
30 18
B T7
olours (0) Y{y=88,6 Ostwaldcolours (o) Y,~88,6
Ehdfnatic value, D50 max (m) chromatic value, D50 T-40
A*110 B*110 chroma (A*2 70 B*210)
BE391-3A_1 BE391-4A 1
X,=85,68Y,~8858.2,~1212 B, X,=85,68Y,~88582,~7212 B,
%w=0,3477y,,=0,3595 240 Xw=0,3477y,,=0,3595 240

A= (@3~ ag) Yig (VY193
B3 = (b3~ bs ) Y15 (/Y1913
ag = ay[(x-0,17D/y] 4L
b3=byo [(Mp1x+bp1)/y]

39
ay=1,by=-04 8-0069 T A

Mp;1=-1,344,bp1=0,781 . o8| n N
n = D50 —40 ' 309 40

o

Osftvalddolours (o) Yy\=88,6
max (m)Ehdatic value, D50
chroma (A*310. B*310

Ag= (g ~3y) Yag (VY1913
By =(bs—bsp) Yig (vrv;9 13
a =2y [(x-0,171/y] 4L
=50 [(Mp1x+bp1)/Y]
=1, by=-04 869 39 A,

mp1=-0,157 bp;=0,385 . (O5800—o

)
n=D50 -40 ) 9 }‘ ) 40
1

Ostwalddolours (o) Yy,~88,6
max (m)Fhdfnatic value, D50
chroma (A*4 10 B*410)

BE391-5A_1 BE391-6A 1
X,=85,68Y,~8858.2,~1212 B, X,=85,68Y,~88582,~7212 B,
Xw=0,3477y,,=0,3595 140 Xy=0,3477y,,=0,3595 140

As = (@ = as,y) Yig (VY1913
Bs = (b5 ~ bs 1) Y15 (Y/Y191/3
a5 = a [(x-0,171)/y] 1
bs=byq [(Mp1x+bp1)/y]

39
80=1, byp=-04 88> A
Mp;1=-1,344,bp1=0,781 . o8l 1 n N
n = D50 —40 ' 309 40
9
[

Osfvalddolours (o) Yyy~=88,6
max (m)Ehdhatic value, D50
chroma (A*s 10, B*s10)

A6 = (@ ~ ag) Yig (Y1913
Bg = (b — bg,) Y (Y/Y19)1/3

ag = ag [x/y] 1
2(3:[12?- [(an—xtk())Di)/y] 869 39
20~ 4 Y20~ v A
moi=-1344b, 70781 os8 ]\, 25
n = D50 —40 ' 30 40
A
u

Ostwaldcolours (o) Y,~88,6
max (m) chromatic value, D50 T-40
chroma (A*g 10, B*s.10)

BE391-7A_1

BE391-8A 1




Ostwaldcolours (o) Y\y~=88,6
o525 max (m) chromatic value, P40
Mig the chromaticity diagram (x;0, Y10)

X,,=90,14.Y,,~88,59,2,,=57,09
Xw=0,3822y,,=0,3756
Ao= (@0~ agy) Yig (Y1913

By

Y
Bo = (b — b,n) Y (Y/Y19)1/3
29 =ago [x/y] +
by = bao [2/4] g
a50=1, byg= -0,4 o
. .
n = P40 _40 )
2 625
% 700
il
CIE 1964 X10 Ostwaldd
0,0 + ToHeseE max (m)]
0,0 0,2 0,4 0,6 0,8 1,0 chroma (}
BE391-1A_1 BE391-2A 1
X,=90,14Y,~8859.2,757,09 B, X4=90,14Y,~88,59,2,757,09 B,
%w=0,3822y,,=0,3756 210 Xy=0,3822y,,=0,3756 E
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1=(1-byp) Yig (YIY191/3 By = (b - by Yig (vrv,9 13
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA k22 40 0,=byo [(Mp1x-+bp1)/y]
ap0=1, byy=-0,4 850= 1, byg= -0,4 k>
mr=1000bp=0471 . P A mp=-0,1574p,=0385  @s4dg 40 Ao
n=P40 —40 ' ' 40 n=P40 —40 ' Z‘g\.\ 349 40
8 34 B
T T6
Osjwélddolours (o) Y\y~=88,6 Ostwaldcolours (o) Yy,~88,6
md& (m)hdfatic value, P40 max (m) chromatic value, P40 T-40
chroma (A*; 1o, B*1 10) chroma (A*2 70 B*210)
BE391-3A_1 BE391-4A 1
X,=90,14Y,~8859.2,757,09 B, X4=90,14Y,~88,59,2,757,09 B,
%y =0,3822y,,=0,3756 Lo Xy=0,3822y,,=0,3756 210
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag =y [(x-0,171/y] 1 a4 =ay[(x=0,17D/y] 4
b3=byo [(Mp1x+bp1)/y] 0 bs=byo [(Mp1x-+bp1)/y]
ap0= 1, byg=-0,4 B22 A 80=1, byp=-0,4 B22 4 A
mp;=-1,344,0,;,=0,781 2 mMp1=-0,157bp;=0,385 54009 | N
n = P40 40 n = P40 _40 iy y ) 40
1
4 6 +
odiwalddolours (o) Y\/=88,6 Ostwalddolours (o) Yy,~88,6
max (m)hdfatic value, P40 max (m)Fhdatic value, P40
chroma (A*310, B*310) chroma (A*410, B*4.10)
BE391-5A_1 BE391-6A 1
X,=90,14,~8859.2,757,09 B, X4=90,14Y,~88,59,2,757,09 B,
%y=0,3822y,,=0,3756 410 Xy=0,3822y,,=0,3756 210
A5 = (85~ 35,1 V1o (VY1919 Ag = (B ~36,) Y1s (VY1913
Bs = (b5 — b5 1) Y18 (Y/Y19 Bg = (b5 — b ) Y18 (Y/Y19)
a5 = a [(x-0,172/y] + g = a0 [X/y] +
bs=byg [(Mp1X+bp1)/y] bg=bao [(Mp1x+0p1)/y]
a0= 1, byo= 0,4 p72 40 A ap0= 1, byg= ~0,4 g2 40 A
Mp1=—1,344 b,=0,781 5 mpi=-1,344 bp,=0,781 6
n = P40 40 n = P40 40

Odiwaldg

olours (0) Yjy=88,6
Ehrfnatic value, P40

max (m)T
chroma (;

A*s10 B*510)

Ostwaldcolours (o) Y,~88,6

max (m) chromatic value, P40 ]
chroma (A*g 10, B*s.10)

BE391-7A_1

BE391-8A 1




Ostwaldcolours (o) Y\y=88,6
o525 max (m) chromatic value, AOO

X4=98,46Y,~88597,~3118 B,

0,8 ! natic v Xy,=0,4511y,,=0,4059 +40
3 Mig the chromaticity diagram (x;0, Y10) Ao = (80— ag,) Yis (y/ym)i;a
Bo = (b ~ bo,) Yag (Y/Y19)1/3
29 =ago [x/y] +
by = bao [2/4]
80=1, by=-04 70 |75 42 A
1 1 1 Lo
n=A00 —40 ' 389 40
%625
% 700 17
1 B8
CIE 1964 X10 Ostwalddolours (0) Y\=88,6
0,0 + L) max (m)Fhdfnatic value, AOO
0,0 0,2 0,6 0,8 1,0 chroma (A*g10, B*0.10)
BE391-1A_1 BE391-2A 1
X,=98,46Y,~8859.2,731,18 B, X4=98,46Y,~88592,~3118 B,
%w=0,4511y,,=0,4059 Lo Xy=0,4511y,,=0,4059 240
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1= by~ by Y1 (/Y1913 B2 = (b2~ by,0) Y1g (VY1913
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA 0,=byo [(Mp1x-+bp1)/y]
80=1, byp=-04 70|75 42 =1, by=-04
mr;=1,000,b5,=0,171 \ \ A Mp;=-0,157,bp1=0,385 0175 42 A
n = A00 —40 ) 389 ' 40 n = A00 -40 4 38 40
6 13 17
17
1 ¢ -
Ostwalddolours (o) Yyy~=88,6 Ostwaldcolours (o) Y,~88,6
max (m)Fhdnatic value, AOO max (m) chromatic value, AO0 T —40
chroma (A* 10 B*110) chroma (A*3 10 B*210)
BE391-3A_1 BE391-4A 1
X,=98,46Y,~8859.2,~31,18 B, X4=98,46Y,~88592,~3118 B,
%w=0,4511y,,=0,4059 20 Xy=0,4511y,,=0,4059 240
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag = ay[(x-0,17D/y] + a =2y [(x-0,171/y] 4
b3=byg [(Mp1x+bp1)/y] " bs=byo [(Mp1x-+bp1)/y]
80=1, byp=-04 75 =1, by=-04
Mpg=—1,344,b,=0,781 70 As Mpy=-0,157,bp;=0,385 B175 42 As
n=A00 40 n=A00 -40 6 33 40
17 il 17
Ostwalddolours (o) Y\y=88,6 Ostwalddolours (o) Yy,~88,6
max (m)hdfatic value, AOO max (m)Fhdatic value, AOO
chroma (A*310, B*310) chroma (A*410, B*4.10)
BE391-5A_1 BE391-6A 1

X,=98,46Y,~8859.2,~31,18 B,

Xy~=0,4511y,,~0,4059

As = (@ = as,y) Yig (VY1913
Bs = (b5 ~ bs 1) Y15 (Y/Y191/3

a5 = a [(x-0,172/y]
bs=byo [(Mp1x+bp1)/y]
ay=1, byp=-0,4
Mpy=-1,344
n=A00

=0,781

Ostwaldg

olours (0) Yj,=88,6
Ehéfnatic value, AOO

max (m)T
chroma (;

A*s10 B*510)

X,=98,46,Y,=88,59.2,~31,18 B,
Xy=0,4511y,,=0,4059

A6 = (@ ~ ag) Yig (Y1913

Bg = (b — bg,) Y (Y/Y19)1/3

ag = ag [x/y] i
bs=byq [(Mp1X+bp1)/y]

an0= 1, byo= ~0.4
Mpg=-1,344 b,=0,781 70
n = A00 -40

13

Ostwaldcolours (o) Y,~88,6

+40
42
75
As
2 40
F-40

max (m) chromatic value, AOO ]
chroma (A*g 10, B*s.10)

BE391-7A_1

BE391-8A 1




515 520 Ostwaldcolours (0) Y\\~=88,6 X,~=88,58,Y,,~88,58,7,,~88,59 BD
o0 525 max (m) chronje}tlc \(alue, EO00 x4,=0,3333y,,=0,3333 +40
Mig the chromaticity diagram (x;0, Y10) Ao = (80— ag,) Yis (y/ym)i;a
Bo = (bp ~bg) Y15 (Y/Y19)1/3
29 =ago [x/y] +
bo = bao [2] 7$9 o9
ay=1, byg=-0,4
20 20 D\\ A,
+ t t »
n=E00 -40 40
25700
® 28
il
L CIE 1964 X10 Ostwalddlours (9} Y\\=88,6
0,0 + ZOg65es max (m)] atjc value, EOO
0,0 0,2 0,4 0,6 0,8 1,0 chroma (. %010
BE391-1A_1 BE391-2A 1
X,~88,58,Y,~8858.2,78859 B, X,=88,58 Y,~88,58,2,~8859 B,
%y=0,3333y,,=0,3333 Lo Xy=0,3333y,,=0,3333 240
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1=(1-byp) Yig (YIY191/3 By = (b - by Yig (vrv,9 13
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by = by 2] 789 59 0,=byo [(Mp1x-+bp1)/y]
ax=1, byy=-04 rocuoo\T a0 =1, byy=-0,4 7$9 59
mry=1,000bp3=0.171 , , A mp=-0,157bp=0385  ©880p—g Ao
n = E00 —40 ' ' 40 n = E00 —40 ' \ 40
4 28
® 28 19
8
Ostwaldgdlours (o) Y\y~=88,6 Ostwaldcolours (o) Yy~88,6
max (myFhdfmatic value, E00 max (m) chromatic value, EO0 T-40
ch (A*110 B*110 chroma (A*2 70 B*210)
BE391-3A_1 BE391-4A 1
X,~88,58,Y,,~8858.2,78859 B, X,=88,58 Y,~88,58,2,~8859 B,
%y=0,3333y,,=0,3333 240 Xy=0,3333y,,=0,3333 240
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag =y [(x-0,171/y] 1 a4 =ay[(x=0,17D/y] 4
b3=byo [(Mp1x+bp1)/y] 769 39 =50 [(Mp1x+bp1)/Y]
ap0= 1, byg=-0,4 850= 1, byo= -0,4 789 59
Mp=-1,344b,=0781 060 : NS mp=-0157,bp;=0385  (%6q00—¢ As
n = E00 —40 ' ' 40 n = E00 —40 ' ' 40
28 9 28
9 fl
(@] Iddolours (0) Y\y=88,6 Ostwalddolours (o) Yy,~88,6
m&% (m)hdfatic value, E00 max (m)Fhdatic value, EO0
chroma (A*310, B*310) chroma (A*410, B*4.10)
BE391-5A_1 BE391-6A 1
X,~88,58,Y,~8858.2,78859 B, X,=88,58 Y,~88,58.2,~8859 B,
%y=0,3333y,,=0,3333 240 Xy=0,3333y,,<0,3333 240
A5 = (85~ 35,1 V1o (VY1919 Ag = (B ~36,) Y1s (VY1913
Bs = (b5 — b5 1) Y18 (Y/Y19 Bg = (b5 — b ) Y18 (Y/Y19)
a5 = ay[(x-0,171/y] 4 g = a0 [X/y] +
bs=byq [(Mp1x+bp1)/y] 769 39 bs=byq [(Mp1X+bp1)/y] 7d
ay0=1, byo= -0,4 axp=1, byy=-0,4 >
Mp;=-1,344,bp,=0,781 . ,cB/G . A:s mMp;=-1,344,bp1=0,781 . Preo/o A:e
n = E00 —40 ' afh 40 n = E00 —40 ' 40
9 4!
l
(@] Iddolours (0) Y{y=88,6 Ostwaldcolours (o) Y,~88,6
m&X (m)Ehésatic value, EOO max (m) chromatic value, EO0 ]
chroma (A*s 10, B*s10) chroma (A*g 10, B*s.10)

BE391-7A_1

BE391-8A 1




Ostwaldcolours (o) Y\y=88,6
o525 Mmax (m) chromatic value, CO0
Mig the chromaticity diagram (x;0, Y10)

X,~86,18.Y,=88,59,2,=102,89 B,
Xw=0,3103y,,=0,3190

A= (@~ agy) Y1 ‘Y’Y“"ifa

Bg = (b — bo,p) Yag (/Y1913

T40

g = a0 [X1Y] +
bo = bo (1] 704 39
ay=1,byp=-04 (76200\\
Ao
. . . N
n = C00 —40 ' ' 40
2625
3 700 2
ar 26
2
CIE 1964 X10 Ostwalddlours (0)[Y\y~88,6
0,0 + 200 max (m)Tl aticjvalue, COO|
0,0 0,2 0,6 0,8 1,0 chroma (A*\o, B010)
BE391-1A_1 BE391-2A 1

X.=86,18,Y,,=88,59.2,~102.89 B, Xu=86,18,Y,~88,59.2,~102,89 B,
¥=0,3103y,,=0,3190 Lo %,=0,3103y,=0,3190 240
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1=(1-byp) Yig (YIY191/3 By = (b - by Yig (vrv,9 13
ay = ago [(x-0,171y] Fo 2 = a0 [(x-0,172/y] 4L
by = byo [214] 439 b2=Dz0 [(Mpx+bp)lY]
a0= 1, byg=-0,4 /‘76 850= 1, byg= -0,4 784 39
mr=1000bp=0171 A mp=-0157bp0385 | ©9200—a A
} t t > | t } >
n=C00 -40 40 n=Co00 -40 A 40
24 26
126 41
4' 10

Ostwalddglours (o) Yyy~=88,6 Ostwaldcolours (o) Y\y~88,6

max (m)'ghﬁﬁnatic value, C00| max (m) chromatic value, CO0 T-40

chioma(A*; 10, B*1 1) chroma (A*2 70 B*210)

BE391-3A_1 BE391-4A 1

X.=86,18,Y,,-88,59.2,~102.89 B, Xu=86,18,Y,~88,59.2,~102.89 B,
X=0.3103/, 503190 e X=0.3103/,03190 20
A3 = (a3~ a3 ) Y15 (Y/Y19) Ag= (@4 =ag) Y15 (Y/Y1g)
B3 = (b3~ bs,) Y1 (/Y1913 By = (b4~ by,0) Y1 (/Y1913
ag =y [(x-0,171/y] 1 a4 = a0 [(x-0,1791y] 4
b3=byg [(Mp1x+bp1)/y] 764 39 bs=byo [(Mp1x-+bp1)/y]

ay=1, byp=-0,4

Vo 0 Y

mp;=-1,344,b;=0,781
n=C00 _40

850= 1, byo= -0,4

mpy=-0,157 bp1=0,385 ;
n=C00 _40 )

t
26 9 %
1
(@) ddolours (0) Y\,=88,6 Ostwalddolours (0) Y\y~88,6
ma¥ (m)hdfatic value, COO| max (m)Fhdatic value, CO0
chroma (A*310, B*310) chroma (A*410, B*4.10)
BE391-5A_1 BE391-6A 1

X=86,18,Y,,=88,59,Z,,=102,89

¥w=0,3103y,,=0,3190

As = (@ = as,y) Yig (VY1913
Bs = (b5 ~ bs 1) Y15 (Y/Y191/3

a5 = ay[(x-0,171/y]
bs=byo [(Mp1x+bp1)/y]
ay=1, byp=-0,4

Bs
T40

Vo 0 Y

mp;=-1,344,b;=0,781
n=C00 _40

(¢}
m

ddolours (0) Yjy=88,6

(m)Fhdnatic value, CO0
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